PARTS LIST
ITEM| QTY PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 1 X-MEP46 4'X 6' MODULAR EQUIPMENT RACK BASE 289.22 289.22
I e 2 2 X-MS1FE6 6' MODULAR STEP FOR FIRE EGRESS 147.89 295.78
3 2 X-MFESTEP |STAIR WELDMENT FOR FIRE EGRESS STAIR ASSEMBLY 107.14 214.28
X2 4 4 X-MJFP MODULAR JACK FOOTPAD 14.35 57.38
wr @ 5 4 X-MS3A SIDE ANGLE FOR THREE STAIR ASSEMBLY 281/2in 6.06 24.24
6 4 X-MS2A SIDE ANGLE FOR TWO STAIR ASSEMBLY 151/4in 3.20 12.80
@ 7 4 X-JACK 5,000 LB. SIDE CRANK JACK 13.37 53.46
8 4 X-MmJcP MJACK CONNECTION PLATE 53/8in 5.49 21.98
9 4 G103 1" X 3" HEX BOLT (HDG.) 3in 1.07 4.29
G 10 8 GILW 1" LOCK WASHER 0.09 0.76
@ 11 4 GINUT 1" HDG HEAVY HEX NUT 0.47 1.88
DETAIL A ———— } 12 | 26 G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 6.99
DETAIL B @ 13 26 G58LW 5/8" HDG LOCKWASHER 0.03 0.68
TYPICAL ALL DETAIL C 14 | 26 | GS58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 3.38
CONNECTIONS 15 4 G3803 3/8" x 3" HDG HEX BOLT GR5 0.12 0.48
16 12 G38112 3/8" x 1-1/2" HDG HEX BOLT GR5 0.07 0.85
17 24 G38FW 3/8" HDG USS FLATWASHER 0.01 0.28
18 16 G38LW 3/8" HDG LOCKWASHER 0.01 0.11
19 16 G38NUT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.54
TOTAL WT. # 989.38
o
[
1
2
0 ®
* ®
o
) C 0
8
|
|
5 |
6
3 4
TOLERANCE NOTES DESCRIPTION %NV
rommces ovowmoons yusssomempseworeoare || xa woouuar steeover | R
DRILLED AND GAS CUT HOLES (2 0,030%) - NO CONING OF HOLES WITH JACK LEGS AND 2 STEPS . BB TSI TANE e OR
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont Y COMMNY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060") CEK 12/14/2016 MS046-6JLS2 oz
:"MPRIEIAR’VNOTE: INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. :: %
INDUSTRIES AND GONSIDERED ATRADE SECRET. o | 81| 02 CUSTOMER BMC 12/15/2016 MS046-6JLS2




75 3/8"

||- .|ll|llllilHlilHanlllHlllHlllHilHlIOIHHIH!HMH |M

e
"II FUPLECEEPEECE e e IIII||III||II [RERARRRARAR AR RRA AR “
jtumuunnuumulunllunuhnunmumnmmumuu

[T O g

48" 411/2" T

|1||lln|ll|||mummumuuiullmllnl|t|M|||uH|HH|||H

'illnlllwlllHlllHlllHlllHlliH|l|Hl|Hl|‘|H|||HHIHHIIIH

SO et v‘

e s

° ° ° ? ° °
. " _ ]
. | 16" TO 28 12" 7O 24"
¢ i

7"x2" Fi 29 1/2" 44

TOLERANCE NOTES DESCRIPTION N fors:

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 4'X 6' MODULAR STEP OVER gTE l Engineering  Atlanta, GA

SAWED, SHEARED AND GAS CUT EDGES (£ 0.030") WITH JACK LEGS AND 2 STEPS RO SumportTeam: - Los Angcos, oA

DRILLED AND GAS GUT HOLES (2 0.030) - NO CONING OF HOLES , -888-753- R

LASER GUT EDGES AND HOLES (2 0.070") - NO CONING OF HOLES A valmont P coveany Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. o

ALL OTHER ASSEMBLY (£ 0.060") CEK 12/14/2016 MS046-6JLS2 o3

:Hﬁgmammﬁ NTHIS VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
oRAWING o

NDUSTIIES AND CONSIDERED A TRADE SECRET. ANY o | 8102 CUSTOMER |BMC 12/15/2016 MS046-6JLS2




